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L 1r mwn: onan/r™ about liability for certain max5n; in all these cases, 8™ finds liable and ©’nan only consider maw
a. rnxif done by hand (e.g. hair) or by teeth (e.g. nails)
i. ~”77. dispute is only if done by hand (or teeth); but all agree that if he used a 3, he is 27n
1. Challenge: this is obvious — the mwn states 12 11 (pulling out one nail with the other)
2. Answer: R"10 that 11y was taught to show the extremity of X"’s position, but 13227 exempt even 931 — 5"np
ii. ~. dispute is only if he does it to his own nails; but if he takes out another’s, all agree that it is 1108
1. Challenge: this is obvious — the mwn states y17ax (“his nails”) —
2. Answer: R"10 that X" even rules 27n if done for another, and 17379% taught to show leniency of 1321 — 5"np
iii. Pulling out hair: Xnp12 — if one pulls out »ri *a Xond ("M 27 - 2 hairs) —a7n
1. Challenge: Xn»»12 adds that for the violation of “balding” (nn% 0>y Pa AP MW RY) — 2 hairs
2. Answer: read “similarly, for nn1p, the minimal amount is 2 hairs”
a.  Support: 2:0 Naw RNALIN — taking out NN RON is 27N; 8™ rules that even taking 1 is liable
b. However: nnon agree that if he takes the white hairs out from among the black — 2n for even one
i. Note: this is prohibited even during the week, as a violation of v. 1
iv. Cutting nails: (DW) RNAOIN — R"2W1 rules that if most of a nail is off (::flesh), may pull off rest by hand, 931 - 27n
1. Challenge: we have no precedent for liability if done »532 and permission to do same by hand
2. Rather: if most off, "mn if by hand; Mor Yar Ma if by 3; if most on — Mor by hand and 1»n if done *532
a. A7 37 we rule in accord with R"2v7
b.  pnr 71 conditions — must be hanging “up” from skin/hand, and must be troubling him
b. Adornment: braiding hair, putting on blue powder around eyes or red oil on face
i 17128 N”27 DW1 PAR 1 — braiding is MR, blue powder is n22n2, red oil is N0
1. Challenge (students to 17x 77): this is not the usual method for any of these maxrn
ii. Rather (173x 73, heard directly from n72>7): the blue is ny»ay, the other two are 112
1. Challenge: this isn’t the normal form of building either
2. Defense: per v. 2, braiding (and nopa) is considered “y11”
3. »:vnaw koo R"av — if she does these for herself, nmva (can’t be done properly); for another — na»n
a. Ibid: R"2v1 quotes X" — a woman should not put red color on her face, as it is ny»ax
II. Related xn»97a: »:0 Naw ®navIn — 6 activities for which 8™ finds liable, 1321 prohibit only as maw
a. milk: milking, setting milk to curdle, collecting the cheese (®™: p1an, N3, 112 respectively)
b. household: sweeping, laying down water on dirt floor (x": wnn) and pulling honey out of honeycomb (x™: per v. 3)
i. note: MR permitted laying down water in Xninn, as homes were tiled; no dirt floors
ii. Note: solution to dusty house is to wash hands in one corner, feet in another etc. and spillage lays down dust
1. am772 n"n nwR knows how to “wash floor” (e.g. washes dishes in one corner, cups in another etc.)
2. 757 since we rule like w™ (re: 112NN WRW 927), washing floor is N%nn2% AImn without ruses
III. 2r mwn: uprooting from planter
a. If: the planter is 231 (has hole below), 2n, but if it is 2393 2R (sealed) - M09
b. "1 exempts in both cases
i »ax: challenged R11 with seeming inconsistency in w"’s position (equating 211 1X::21p1)
1. w7 (r:7 RS 8oDIN): differentiates between 21p) and 2p1 2R in re: YT 7WIN (only 21p1 are wivn)
2. Answer (837): @y W30 is unique, per v. 4, where nn places higher threshold on oy11r nanv
ii. Elder: asked &1t "3 how w™ would rule if the hole was right near the root (no answer)
1. Then: 1 himself ruled that v would be stringent if the planter had a hole big enough to make 110
2. Challenge: that should be less obvious than the question asked (and he should have affirmed x1mn?)
3. Defense (»7a8): 1"'s ruling may have been - if there isn’t even a n’y11 left which is potted, 121n
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IV. R1v's 5 “stages” of ©vIn 95 nInv
a. If:it has a hole big enough for liquids to come out, it is 10V if it was merely a X107 (shard which was still utile)

i But: is still valid for use for nrvn m v17°p

b. If:it has a hole big enough to allow liquid in, it can no longer be used for nxon »n VTP
i. But: it is still a 93 vis-a-vis D1 7wan

c. If:ithas a hole the size of a small root, it is no longer a *93 for purposes of Dy 1wan
i But: it is still a *93 — and is "MV Yapn — since it can hold olives

d. If: it has a hole the size of an olive (olives will fall out), it is no longer a 3, since it cannot hold on»
i But: if he decides to use it for nn", it is still a ¥93, since it has function for that purpose

e. And if it has a hole so big that a pomegranate will fall through, it is completely v
i. But: if it has the cover on it (and is in nnn SnR), it will still protect that which is in it from nn nrmv

1. Unless: a majority of the "9 is open, at which point it can no longer protect from nn nxmv

ii. »oN ’7. told Ra1 that he had heard that the 9199 of ©In "3 NNV was “1IP7 RN~

1. ~a17 perhaps that was only in a case of one covered by »na Tnx
a. Challenge: 11 himself ruled that if covered with 5 na 1ny, the 1w is a1
b.  Answer: that is if it is big; if small, the 1pw is 217
f. sox 77 the MW for a ©IN D3 is NPWN OII; NPWN RXINI (smaller) is only for a RV (as per K17, above)
i. Reason: we don’t use a X007 to mend another X103 (i.e. if already broken, once it has a hole, we discard it)
g. NSV RTIATI1O0Y "/PAR 1207 "1 — the MWW is either 7 R¥¥0I or like a small root (smaller) (mnemonic)
h.  ~279 92 82011 77 (in 31258 77's name): the YW for VIN *93 (NTNV) is DMOT RININD
i. K37 Dwa 8w wp 0 (in 258 77's name): once it has that size hole, it is like D7ar 93 etc.
1. In other words: it has no nRnY at all, not n”nn nor 0"
2. However: for purposes of protecting something inside if in nnn YR with a cover, until a majority of the
"3 is opened up, it still protects from nn nrmMY
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